asym_hcm_target (ppb)

6000 [—

4000 —

2000 [—

-2000

X2 / ndf
p0

9.35/58
59.74 + 251.1

25

20

15

10

o

Mean -0.0005396 + 0.05183
: StdDev  0.3981+ 0.03665
__ Underflow
: Overflow
: X2 / ndf 3.553/2
B Constant 311+56
: Mean  -0.02703 + 0.06526
'_ Sigma 0.3804 + 0.0468
| L1l | Ll | L.l | IJ 1 | 1 | L.l | L1l | 11l

8 6 4 2 0 2 4 6 8

1D pull distribution




asym_bcm_target RMS (ppm)

d 111l
I O I
o o
I N
~ N

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY

0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly

0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely

0'82Ly
S'lely
viely
glely
clely
Tlely

0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy

0'9¢Ly
v'acly
[R=rA4
csely
T'Sely

0'sely
vveLy
€vely
cvely
Tvely

o'vely
v'eeLy
eeeLy
ceely
Teely

oeeLy
Teely

0'cely



asym_bcm_an_us (ppb)

X2 / ndf

1

pO

9.794/ 58

39.93 +

=
=
=
=

25

20

15

10

1D pull distribution

Mean

Std Dev

Underflow

Overflow

X2 / ndf

Constant

Mean

Sigma

|||m||l|lll|lll

4




asym_bcm_an_us RMS (ppm)

o 111%]
L1fe [ 1111111
o o
™ N
N N

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



6000

4000

2000

-2000

-4000

asym_bcm_an_ds (ppb)

X2 / ndf
C pO

13.46 /58
101.2 + 257.2

25

20

15

10

o

1D pull distribution

Mean —0.004337 +0.06217

StdDev  0.4775 + 0.04396
I Underflow 0
I Overflow 0
-_ X2 / ndf 4.253/3
: Constant 25.61+4.68
: Mean -0.02899 + 0.07508
__ sigma 0.4614 +0.0637
-||||||||||| |||\D||||||||||||

8 6 4 =2 0 4 6 8




asym_bcm_an_ds RMS (ppm)

_____o____o____________________________+

o o
< (2]
N N

(wdd) sy

(@]
N
N

o
—
N

o
o
N

o
(2}
i

o
(¢}
—

o
N~
—

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



6000

4000

2000

-2000

—-4000

asym_bcm_an_ds3 (p

pb)

X2 / ndf

pO

13.44 /58
110.5 + 259.4

25

20

15

10

o

- Mean —0.004545 +0.06213

r Std Dev 0.4772 +0.04393

B Underflow

r Overflow

-_ - X2 / ndf 3.533/3

: Constant 26.92 +4.79

: Mean -0.01601 + 0.06803

0 sigma 0.443 £ 0,057

-||||||||||||[|J|||\l|j||||||||||||
-8 -6 -4 -2 0 2 4 6 8

1D pull distribution




asym_bcm_an_ds3 RMS (ppm)

[} p—
[ ] p—
[ ] p—
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
‘ —_
. —_
. —_
. —_
. —_
.l
[} p—
[ ] p—
[ ] p—
[} p—
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
. —_
[ ]
______1_______________________________“_H
o o o o o o o o
< ™ N — o (e} (e} N~
[Q\ N N N N — — —

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



4000

2000

-2000

-4000

asym_bcm_dg_ds (ppb)

F|H|—I r—+—+—+—1—i—ﬂ——k—
; °
*
™
.
°

TTFHATTF

X2 I ndf 7.291/58
- p0 21.93+ 249
B ° s ° °
1_. Py .,l ole|?9e ® ol o (] ool Tle * ol |®
° 0?1 % ol® PYE L.
] y JL|P]e
(]

30

25

20

15

10

o

1D pull distribution

Mean -0.0007219 + 0.04577

: Std Dev 0.3515 + 0.03236
: il Underflow 0
__ Overflow 0
: X2 I ndf 1.663/2
-— Constant 37.81+6.45
: Mean -0.02686 + 0.04684
o Sigma 0.3232 +£0.0342
-||||||||||||I|||I|I||||||||||
8 6 4 2 0 2 4 6 8




asym_bcm_dg_ds RMS (ppm)

__t___

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



(o2} o o o ©0 o [} ©
8 g 2 3 0§ 3
s © R o o %
+ S o - + © ]
o + — n 3 -
< N o — -
- ~ o H
0 © — — —
8 3 S ]
° . 3 =z _ =
[} = S 5 o} ©
m a Q = c m m £
c 3} o B g = 5 5] 1=
|l & 5 &8 % 48 = & -
8 =
= ]
o =
2 .
= ]
B = =
=] ]
m -
2 i
o
—
TRTE S B . n
N o [ee) o
- -
o <
0 <
-
[l —
M+_ .
—— —
n D .
AN ]
<t .
I .
_ —
— o—1 —
— .
© -
c ]
— .
~n O ]
< .
€ =
[y ——— -
N —
L .
m —_— —
o -
b_ ]
&= I
© .
———— -
—_— —
———— —
—_— —
Lo b e e e b L B
o o o o [=) o o o
o o o o o o o
@ o - T ¢ ? b

S o NN N T S
N
<

™
~
<

™
~
<




diff_bpmE RMS (um)

bl
S
o o
— —

(wn) SNY

10

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



2 35 8 3 2 o ©
+ o N 9 bt H 7
o + N H NS -
@ I N & > i
el ~ — 4 4
g 3 g2 ° =
S S s Q ]
: 2 2 s & .
c &8 § = 2 3§ ¢ g <
c|§ = 2 8 3z § § 5
o = 2] =] 6 % o = [2)
M — «
s 3]
S i
= ]
Qo =
a =
-
1Y
—¢
PPN RS I SN R Lo 1T
M.. H m © © < N o
o N
O 00
~ N
Qo e~ 3 ¥
7 b
~ +l — e — - el
——1— — ’
n M —— — m
(@) ———— — 'z
o ———— — k54
— eo— —
| ——— — ”m
— 1 T
Y— — ‘TELY
=] — b
c — m
- . -
NP =} — 0gLl
< . .m
. -8
— —— ] m
m —e—+ — .wﬁw
— e . !
~ —_—e— = '8
> — — 8
< —— — '8
—————— — :
4 —— — .w
£ o .
o ——— —
— o—— —
b_ —— —
— —
= ——— —
rm —_— —1
—— —
—— —
——— —
———— —
———— —
————i —
——— -
——— —
__________ _____________H 0'2eLy
o o o o o o o o o
= 8 S 8 DI B A




diff_bpm4aX RMS (um)

(wn) SNY

ta Lyl

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



~ ~ ) ) © I o~ N
5 3 = 5 8 F
ER 5 3 E ¢
a o < e o + |
» + M + Q ]
S S = 8 3 i
by =1 o
g - g —
? ° ]
H =
3 2 ..m k=1 g ©
c|§s ¢ ¥ § : E 5 ¢
o s B 5 S %« 8 2 & &
= -
5 —]
o -
s ]
2 ]
© -
= -
o —]
o
-
! L1 ! | | 7
3 Yy 3 ° < °
o O
0 «
N~ =
—_— —
M 4 -
So -
o —
© 3
| I 3
| — -
—_——
“— -
© .
c ]
~ -
NP =} .
—— -
<0 il M -
— o —
—~ — -
m ——r —
— -
£ 1 -
—_—— —
—— -
ﬂ —— =
— ————— —
m —_—— —1
—_——— —
——— —
Q. — -
b_ —e—3 .
—— -
= —— -
rm —_— —1
—— -
— -
— —
—_—— —1
—_—— —
—— —
— -
- o—— -
— -
—— —
—— —
— —
— -
—— —
— -
—e— —
——— —
———— -
L 1 ] ]
o o o o
o o o
< N n_/_

S ST NN NNNY 3 Y

™
~
<

0
~
<

™
~
<




diff_bpm4eX RMS (um)

(wn) sSNY

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



50

=50

-100

diff_bpm4aY (nm)

X2 / ndf
p0

40.39 /58
—5.715 + 4.189

1D pull distribution

Mean

0.002851+ 0.1077

L Std Dev 0.8274 + 0.07617
141
o Underflow
r —I Overflow
121~
r X2/ ndf 3.82/4
10 I Constant 14.89 + 2.56
I Mean  0.1608  0.1406
sl Sigma 0.8348 + 0.1226
6 —
4
2 —
0 L1l | Ll | 1 11 | 11 | | L1l | 11l
-8 - -4 -2 0 2 4 6 8




diff_bpm4aY RMS (um)

_______________________o____a_________

I

)
™
™

(wn) SNY

@
™

To)
N
)

N
™

[Te]

1_
™

1_
™

o)
<
™

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



I 1Y) I
~ ~ ~
< < <

™
~
<

CRBOBANRBRO SO O d i dai NS I
~
<

pa ] 3 H k) =
S S I © pa S
H H < < T + -
@ Al ~ -
g o 5 8
=] 2 8 8 h
8 o 3 =) —
? © ]
H =
> 3 z - g n
c|ls & & 5§ % g g ¢ -
ol & 5 & % 8§ £ @&
=
5 =
b =
i : 7
R < ] -
5 [ e —— ]
= ]
o
o
— =
' R T R | | | B M PR BT
0 © < N =) © © < o~ =)
— - - — -
0 <
n -
~°
- M .
@ 4 3
0 © —
< —
(o] .
™ .
| —— —1
—— —
— .
——— —
© 1
c —e— =
- .
N =] .
<Ql [ o .
€ 3
c .
~ ——— _
> -
() .
m .
Q. .
b_ .
= —_— ]
© -
————
—— —
———— —
———— —
____________ Cott] _____________T_:_“_._:_._:_“_._:_“_.:T
o o o o o o o o — —
@ © < 39 e 3 A_q nm o_o m?_ © | nﬂ_
1

0°¢eLy




diff_bpm4eY RMS (um)

(wn) SNY

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



0

g © o o o g 5
& 5 > 9 & 3
2 8 S w3 o
S 3 ~ 3 o &
w S I
g & S 3 3
~ o w
8 = S
S 5
vmwfm
. B 3 2 % & < ¢
c|§ = & g8 T § § 5
ol = ®» S5 6 % o = o
=
=}
2
= [ e
R < ]
ko] S —
=
o
o
i
L P N T T T N T T N
< o ©
— -
M
0 N~
- ™M
[e2 )]
M+_
—
o
. —_—
o
-
|
—eo———
— ——
Y—
©
c
~
N O
< Q]
€
[y
N
X
—
—
Q.
2
=
©

=300 I )y ]

S o NN N T S
N
<

™
~
<

™
~
<




diff_bpm11X RMS (um)

O
°
°
)
°
°
)
)
)
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
.
°
°
)
°
°
°
°
°
°
°
)
)
°
°
°
°
°
°
.
°
°
°
°
°
°
°
°
______ _____________________________4_
N © © © ¥ «§ N~ o ©o <
(e0] N~ N~ N~ N~ (o] (o] (o]

(wn) SNY

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



~ 0 o o © " ~ 2
8 B S 45§
s 8 8§ 0% 8 3
3 =3 o~ ~ o + i
o + ® +H Qe ]
g 3 4 g 3
3 3 2 - .
2 c g E
> m H €
@ = =} k] 8 ©
c|ls S & 8 2 &z 5 §
|2 & 5 &8 = 8 2 &
= .
5 —
o .
= .
= .
= 3
e} E
= -
o —
o
-
| L | L L L I BT T
N o N o
~ —
o
n o
~
< o0 =
&i -
—_— —
O -
52 ———— -
o .
i ———— -
| —
—— —
“— —
© ]
e -
-~ -
O 1
<o ——— =
€ =
—_— -
[ —
~ — e— ]
x -
N —
— — —
Q. -
hu_ -
—_— -
= —_—
= — e— -
© —
—_— -
— -
—_— -
—_— -

-100

TNM YO TNMYL O INM

™
~
<

N NN S
N~
<




diff_bpm12X RMS (um)

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



1D pull distribution

—0.006238 +0.1282

Mean

0.985 + 0.09068

Std Dev

Underflow

Overflow

227316

X2 / ndf

113+19

Constant

0.02666 + 0.16838

Mean

1.106 + 0.140

Sigma

57.25/58

-95.8

X2 / ndf

826.2

+

pO

0III|II

asym_usl (ppb)

—10000

—-20000

b
A
it
b
2
¢
z
<
4
T
T
T
T
T

™
~
<

0
~
<

™
~
<




asym_usl RMS (ppm)

____
o
=}
©

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



20000

15000

10000

5000

asym_usr (ppb)

X2 / ndf

l

el

pO

62.95/58
290.2 + 790.2

l

el e
HTHIE

1D pull distribution

Mean

-0.01858 +0.1345

14 B Std Dev 1.033 + 0.09507
r Underflow 0
12 Overflow 0
r X2 / ndf 3.923/7
101 \ Constant 1028 +1.78
I Mean  -0.00979 +0.16838
8 !
Sigma 1.164 +0.147
6_
aF
2
0|||||| i Lo b LR il
-8 -6 -4 -2 0 2 4 6 8




asym_usr RMS (ppm)

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



2 5 © © e 8 2 &
S g > - E =
3 & g 3 3 ¢
+ S © 3 ] H i
© + b +H S n
8 S 8 —
E s .
H = n
. 3 = g s &
c 3 o m m = m
(o) = 7] =} [¢] < o
= =
5 —1
m =
= ]
.B P s ||
2 /_|_/ .
= -
o —]
o
i
L PR T T N W B | L L NI BT BT
© < o~ o © < o~ =)
— - - i
Qo ™M
Lo 7o)
~m
o < =
,nlo_+_ -
———— —
n Y =
(92] —_————— -]
N ————— —
™ .
Ko ————— ]
| -
—_———
— .
© 1
c ————— —
- .
N O —
< Q] —_ 7
— .
Ko} 1
—e—1— —
g — -
= —— —1
o —
(2] ———— —
> ——— —
© ——— —
———— —
S_ ———— —
5 — e —— —
| ———1 —
e —e—— —
——— —
——— —
> S e .
0 — e —— -
© — e~ -

-5000

-10000

S ST NN NNNY 3 Y

™
~
<

0
~
<

™
~
<




g RMS (ppm)

us_av

asym_

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



asym_us_dd (ppb) 1D pull distribution

25000 = X2/ ndf 62.96 / 58
E po 2231+ 676 - Mean 0.01006 +0.1345
20000 — 12 __ Std Dev 1.033  0.09509
15000 f— : Underflow 0
10000 f_ 10 -_ Overflow 0
- X2 I ndf 4.015/6
5000% l } } l l } : Constant 1053 +1.76
0 ‘ I " ! ] $ I Tl ]l l I * l] 8-_ Mean 0.01754 + 0.17872
TR f IR - oo
oL —
4
o
-I||||| il b Ll il

0
-8 ) -4 -2 0 2 4 6 8




asym_us_dd RMS (ppm)

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



3] p=d o (=] © [Te) N~ <
& g T % 3 9
5 =3 fa} H 5 ©
° S = © ° + i
H H = r:} H @ .
8 o 4 & 8 n
g & ER -
S S o -
: .
. 3 =z _
s & 3 5 ¢ & g ¢
= =
sl &8 5 3 = & £ &
= |
5 —
Il i
5 _ﬂ ]
0 —]
© -
= [ ]
S u
2 -
o
i
L L 1 L L L | .
~ S < =
- —
0 N~
0 S
-
™M 00 =
% + -
n © .
(o] .
. —_— —
™ .
N [ S
—— —1
——eo—— —
— .
© .
c .
- ]
N O —
< .
—l— —1
——eo—— —
—~ — -
o - —
o —1 =
— -
(=) — -
N
= _-—— —
D — o -
o S — -
A .
m_ —_— -
— -
——— -
3 mE=- -
e ——— —
—e— -
—— —
——— —
— o .

-10000

—-20000

S ST NN NNNY 3 Y

™
~
<

0
~
<

™
~
<




asym_dsl RMS (ppm)

_____
o
T}
e}

(wdd) sy

800 —

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



20000

15000

10000

5000

-5000

-10000

-15000

—-20000

asym_dsr (ppb)

X2 / ndf

pO

60.48 / 58
355.8 + 732.6

1D pull distribution

Mean -0.01592 +0.1318
I Std Dev 1.012 +0.09319
12 Underflow 0
r Overflow 0
10— X2 I ndf 3.864/7
- Constant 11.94 +£2.13
Mean -0.06581+ 0.14165
sk
| Sigma 0.9888 +0.1228
6
4
2 —
0||||||| i N E il
-8 -6 -4 -2 0 2 4 6 8




asym_dsr RMS (ppm)

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



10000

asym_ds_avg (ppb)

X2 / ndf
pO

49.42 | 58
74.51+ 469.2

1D pull distribution

—0.001819 +0.1191

0.9152 + 0.08425

8.051/5

1164 +2.11

-0.01669 + 0.15182

0.9532 +0.1286

Mean

B ] Std Dev
16~

- Underflow

B Overflow
14

L X2 / ndf
12~ Constant

- Mean
10

L Sigma
8
6
a4+
2+

Ll |III|III| il

CJOO

) -4 -2 0 2 4

6

8




g RMS (ppm)

ds_av

asym_

______
o
©
™

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



asym_ds_dd (ppb) 1D pull distribution

X2 7 ndf 61.73/58

0 Mean 0.01109 + 0.1332

—213.6 + 647.9 i

20000 — L
= Std Dev 1,023 + 0.09416
15000 :— 10 Underflow 0
- i Overflow [
10000 — L
- - X2 I ndf 543216
5000 8
] ] | Constant 10.21+ 1.78
0 T l I l r Mean  -0.004834 + 0.181966
-5000 * 6 Sigma 1166+ 0.162
-10000 3
-15000 A
I 3
2 —

OIIIlII II|III|III|II II|III
8 6 4 =2 0 2 4 6 8




° _]
. —]
. H
. —]
. H
. —]
. —]
.l
7~ —
= e
S o
o ° -
N—r [ ] —
) n _]
= o —
e . ° ]
= 7
S . —
| 7
" 7
. —]
T, o
e * -
P ° —
()] ° —
© ° —
. —]
. H
. —]
. —]
. —]
.l
. —]
° _]
.H
.H
L _ Pt
o o o (@] o o
o Ln o L0 o n
N~ (o] O L0 Ln <t

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



-0.01069 + 0.1488

Mean

1D pull distribution

77.04 158

X2 / ndf

asym_atll (ppb)

x10°

o ~ < ~ <
n ~ — n ©
S 0 @ £ N
S g% ¢ S 1°
+H © © +H © |
(3] w0 < (3]
s ] — -
s ]
: £ 3 5 G 1
] o} < 2 @ H m <
z B g 3 5 8 5
4] =} [e] > (6] = 2]
— N
ﬁ“ — O
= <
J_.
—¢
P R S AU NI B
o o] © < N o
-
<
o
T
()
S
———— = -
— ——— ] 7
— — ‘vELY
+ —— = i
g - ¢
T ——— — 2
) — ‘2elY
3 ] i
10 3 T
- — T
— ‘1ELY
. T
o .
Q —
—e—— —
——— —
———
——— —
—o——— —
—— —
! .
L, .
—Q— —1
lo——— —
M .
—o—— —
——— —
——— —
_.|o|. -
—— —1
——— —
. .
- .
., .
L, 1.
S — — .
____..T_ITEI_IT.______ _____ _______________I
o o o o o
o o o o
T8 9 ¥



asym_atll RMS (ppm)

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



~ o ) ) © ~ © ©
B 3 3 8 Q S
= 2 3 = 3 S
= A T BT .
o + A H o ]
4 ey = < —
g s 2 - .
3 3 ] —]
S [S] < -
T n
> m 3 €
@ = 2 k=1 8 ©
c|l§ = & § S £ § &
o s B 5 S %« 8 2 &
= -
5 —
o -
= ]
R Pl -
© -
=1 -
o —
(@)
-
L L L | L | L L L L
© N o o
— — —
o ™M
o
-
- ©
%+_ 7
<t —_—— -
o o —
+ .
Q@ —_— -
S| e -
™ —
o —
- —
— —
5 ——1 -
e — —
— —
~ O —_— —
<a|l, o -
———1 —
~ —_————  —
o) ]
o —
o —— -
~ —
N -
= —
© .
£ =
—_— -
> ]
(%2} —
®© —_— i —
—_— -
—— -
e -
—_— -
— H
———— —
© ———— ]
=
L1 | )

SO i NN NN S
~
<~

™
~
<

™
~
<




asym_atl2 RMS (ppm)

7650 —

(wdd) sy

7400 [T ) ) L]

7600
7550
7450

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



0.0011+0.1323

Mean

1.016 + 0.09352

Std Dev

Underflow

Overflow

2.626/6

X2/ ndf

10.69 +1.98

Constant

0.1164 + 0.1884

Mean

1.184 £ 0.201

Sigma

1D pull distribution

60.89 /58
+ 1.102e+04

X2 / ndf
0

-1.877e+04

p

asym_atrl (ppb)

x10°

-100

0III|II

1Y) I
~ ~
< <

S ST NN NNNY 3 Y
. I
~ ~
< ~



asym_atrl RMS (ppm)

(wdd) sy

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



—0.007809 +0.1171

Mean

0.8996 + 0.08282

Std Dev

1.415/5

1234 +2.12
-0.2662 +0.2197
1.13+0.21

Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

1D pull distribution

47.76 /1 58

8542

X2 / ndf

9805

+

pO

asym_atr2 (ppb)

x10°

S ST NN NNNY 3 Y

™
~
<

0
~
<

™
~
<



asym_atr2 RMS (ppm)

(wdd) sy

7500 —

7300 —

EVeELY
cveLY
TVveELY
0veELY
veeLy
€eeLY
ceely
Teely
oceLy
V'IELY
eTELY
cTELY
TTELY
0'TELY
V'oeLy
€0ELY
¢0ELY
ToELY
0'0ELY
S'6¢Ly
v'6cly
€'6cLly
c6ely
T6cly
0'62Ly
S'8¢Ly
v'8eLy
€'8eLy
c'8ely
T'8ely
0'82Ly
S'lely
viely
glely
clely
Tlely
0'lely
v'ocLy
€9¢Ly
[A°I7A4
T9¢LYy
0'9¢Ly
v'acly
[R=rA4
csely
T'Sely
0'sely
vveLy
€vely
cvely
Tvely
o'vely
v'eeLy
eeeLy
ceely
Teely
oeeLy
Teely
0'cely



asym_bcm_dg_us (ppb) 1D pull distribution

5000 == X2 /' ndf 12.06 / 56 001696 + 0.06094
— Mean 0. +0.
- pO 67.63 + 2504 F
4000 — 20f r StdDev  0.4601+ 0.04309
3000 f_ 18:_ | Underflow 0
= L4 N Overflow 0
2000 -
® ® P 16~ X2/ ndf 0.08306 / 2
Y ® L
1000 ® ® [ 4 ® L
* [ BK J 14+ Constant 22.07 +3.67
R [ %0 [ 1y hd ® r
0 3 L] L4 | L Mean  -0.03395 £ 0.08720
®e ® [ T'Y ®
® ® ®le [ ) ® [ ] [ | 12
~1000 * . [ . Py )i LIS E Sigma 0.5658 + 0.0691
10
-2000 [ |
b i
-3000 C
6
4
2k
-|||||||||||||||| |||||||||||

CJOO

-6 -4 -2 0 2 4 6 8




asym_bcm_dg_us RMS (ppm)

0 — eveLy
° — zveL

° —TYELY

. — oveLy

° — veeLy

° — ezeLy

° — zeeLy

° —{TeeLy

° — ozeLy

° — vIELY

° — eTeLY

° — z1ew

° —{ ey

° — 0TELY

° — ¥'0eLY

° — €0eLY

° —{ zoeLy

° —{ToeLy

° — 0'0eLY

° — 62l

° — vezLy

° —| e62Ly

° — zezly

° —{T62Ly

° — o'6zLy

° — '8zl

° — v'8eLy

° — e'82Ly

° — zeLy

. —{Tsey

° — o'gzLy

° — 52w

o — vy

o ey

° — ziew

° — e

° — oLz

° — v'9zLy

° — g9zl

° — zozLy

° —{T9zLy

° — o9zLy

° — v'seLy

° — e'seLy

° — zseLy

° —{TseLy

° — o'seLy

° — vveLy

° — evely
— zvey

—{TveLy

° — oveLy
° — v'eeLy
° — egzly
° — zezw
—{TeeLy
| -H o€zLy

(wdd) sy



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50


